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1. ¥) gfgd = Rgu Soch ArHeodd Jgarad” 8980508, Explain TWO Suktis in your
language. 2 Gt &1 faawor et e | fefeg) 2x1=2

1) q% dcd 7L I 71 I G | 3) A&t Brafelf 7 Turd g 1 9 gEH|
2) PN HHOT U AT Tesid F JigHH|

) A IAIEA: USRI S T TR A TN T feEd) Sodh $Eswe®H HEzi-
edjabined K00, 308" HBAL T BBHVD DErNS’ Frapod. For TWO shlokas,
write the TZfEMTT: 3T=IT: in Sanskrit and 9T in your language.ﬁ@ﬁﬂﬂﬁﬂm?ﬁ'{ KD 'H'E!j[

H 3R aTeqd Sty e § fefEg 2x4=8
1) | ST g aR: gfdamgarea| 3) geaTHeRTIIEl THT ATH ST 2Id: |
IEGEEEISENIG sz REREa I FFaTeAT werdat gida yfade aei
2) FRITIATT TUTESIRI |
T T RAUTAEICT ATTTERIB ||

3) AL QAN W T fEdl asss prddsne @Y rsin Hernd’
00, Write the meaning of the given Subhashitas in your language. a‘rgmﬁ?ﬁasr aref ueht
wraT ¥ fefEm) 2x2=4

1) foafe dwemeed e 9<fd araogar gia fasem: 1 2) aAsTy T grwiavferon spferar 4o ot =i~
JOTTY AEfeia Ydl GfdTaaHe 8 HeTdF Il Td FotHT HFATMAT 7 ATedsHor FHTeRf ||
3) TIgTEEE W I el wrdn §ES0 ToY) arSsnd Hrad” grabod. Write the
meaning of the Chatu shloka in your language.wiﬁm AT WTHT H fAfEg) 1x2=2

I T TG TG FIERTAT T 9 TH: |
SARFAISTT 7 TomTaT: Hferd TaT TR I

3) WER-HEEIR: 3ref T U a)d 0E0kg Ghog) @Bsni Jrid” 9580504, Explain
the meaning of the given Samasya in your language. ﬁqwmzsrmf AT WTHT § AHATAT |

1x2=2
TR ferotfet: ST = mTef Ty T
feferfer: gRTITT et TET Hiad: |
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IL. ) ST Tt Trrrtef T fore | s goe38 H06sE)0drs Srsgsini DS’ Frabod.

Explain any THREE with reference to context. &7 [ T e Afgd fararoT i 3x3=9
1) TIHAR! HIfd: T g 4) 3 I: A dd HaTH a9 |
2) WA YLET PdT| G 7H AT 5) TU! & P T TadH|

3) HURd ¥ AT
3 SIAUTAAT TP I feTad | 08 HHoH VoX) B0 & HXrESWSI(0&. Answer any TEN in

Sanskrit. T8 WA & THd | ST oA | 10x1=10
1) BT . fors:2 7) igeit Hifd: v T yafa?
2) ﬁﬂ'ﬁl’dTEUT:EE:? 8) qu;ﬁa’qﬁ;q@jgﬂm?
3) SHENMROT & HEH S T2 9) UITATH 8fd ufhaT S
4) IR U BT 31 vafa? 10) 9IS &7 STesfd?
5) i wE A e 11) TAT i wRTHITT Bia:w:?
6) faecere Iu: +:2 12) “UTAIA” SO TSAbrREy fdhH?

1L ) 9 W1 I WP e fEd) o6 Swrod eHmirfod HoX)ydod® 5o

55'"5"50?6.) °oHOC. Write your own sentences in Sanskrit using any FIVE words. ‘ﬁ?a[?l@?ﬂ
VAT e Wi a1 fefeEg) 5x1=5

HTEE  2)TRA3)FY: 4) Fwm: 5) WOt 6) BT 7) arfa:

M) HUUTH 372 @THET fer@d | es80¢38 &‘Szgv:qé‘ ©greX FoH0c. Write the meanings of any SIX

in your language.%ﬁiaﬁwwffﬁ'@m . 6x% =3
1) STgeT 2) YR 3) gfeq 4) 9
5) faa: 6) HEH: 7) fofgomt 8) Tufeausry
$) WU 3Taﬁ7-[ Wﬁ'@ﬂl e980¢38 &O&&)o‘.’oo &° eag"eJ:{n IroHoc. Write the meanings of any
SIX in Sanskrit. B2 % 3¢l H&ha ¥ faif@q) 6x% =3
1) Telephone / 80O&I5L / AT 2) Centipede / 238 / IR
3) Finger-ring / €080 / 32T 4) Camel / 2,08 / 32
5) Whirlpool / &&0¢60 / ¥R 6) Husband’s sister / 85¢ TB0%), HIFe3B / T2
7) Intestine / % / At 8) Sambar / AP025° / ATRR
$) Ui T fntsa afoAm foad) 080638 908 88D HtH zrahod. Split any FIVE and name
the sandhi. 9T=i %1 G@fE fprer w6 1w fafET) 5x1=5

DI 2)CATR:  3) Bidsadh:  4) IR 5) TR 6) &fRR=sT  7)drfy
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3) UM Wi e WA @l 2080¢38 08 ¥92 HB zraHod. Join any FIVE and name the

sandhi. 9Tei &1 G@fer i 7w faf@g) 5x1=5
1) T + 3 3) d9 + 3 5) ATdT + &4 7) T + 3]
2) TR + 3TEH 4) HEdT + TT 6) <ar + 3fd

F) MO IE US TAF FoA1 DS08RS 3085 HEBH0E S B Feahocd. Separate and write
the odd one out. Tg ¥ T 9162 I 31T HIfSIQ) 6x%=3
1) TR, T, 9, T 2) uw:, foe:, fife:, pape:
3) |, faere, =, i 4) Togd, FET, Id, BT
5) 3, gu:, TST:, TR 6) TS, IHAT, GEET, FT

IV 37) ST TAIGE SeaeauT REiT T | ar88d” @) Hessn B HOghs 923§ 8rdsw &

a,)wt?ex{n $r80<50éb. Fill in the blanks with the suitable vibhakti form of the word given in

brackets.Wﬁmmﬁﬁﬂmﬁmﬁﬂﬁm

1) AT STy faggt= (@)
2) e A I | (5)
3) Ter e aufd) ()

4) AR BghAshISiI (@)
5)

5x1=5

T <d: TR &I | (TX)

am Sferd fahed ferem {&@d@) Choose the correct option and write. 83D DEV)HEVND 0D
FroHod. I farmea &1 o w5tk fefag)

1) TR A |
&) AT ) [dA:
) ZdAH ) &

2) BH: Ume: |
F) IYSAd ) AUSI
) USAq ) 33

3) gaT YT HE 4|
%) fed ™ Q) gamn:
) fadam ) TadiaA

4) ®E: _____ Tolerds q=ar |
) B )
) T2 o) FBIFH

5) o HEMRAagE qHTH |
F) TR ) FTRIEH
) ATEIAH ) AT

10x% =5
6) TortaeT arfed |
) °HIq T) 9
T) 7T ) 37
7) T AT |
%) feaferar @) feafohey
WRESIESAY ESIET
8) e 3feH AU s
®) @) T
T) T ) @
9) farefer: vemof graa: |
F) TAR: ) IART:
) AT ) Iae:
10)gRTT e |
F) BEIH T) B
T) 8T ) F:
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** FIBAT @GN ITRIOT SIATTRIGTRT T @1 |+

V 3 et IO FEaed: WArTaREdd $edl 808 @)l arsied Eydosirdsved
DArHDHOSYS BaHod. Change the voice of the given sentences by using Krudantaas. 7 &g g

TR BT Fed Bl § I TRAAT HifeTg| 5x1=5
1) Se: ViTHT: TTRAar| 2) S T ZAIH| SEIEESE]
4) BATH Tdg: | 5) STfelhl: @A TTfdaad: |
3 "eMUSgd Uieied Jdiauee am ue for@dl Swese3 Gothr Horesd H84Dod Suwetsdwmes
IS BrHBWL FeaHod. Write the suitable form for the third word by observing the first
two words. Tge! St TTeRl T UREI i dIEN 9Ieg T 41 &Y fef@y) 5x1=5
1) forafa- foeq > Hfd
2) - A W > TIhivid
3) TEfd- Tad > qlfa
4) Y3fd- Tusad > Zafd
5) TH-ARHTAR > ™ .
3) WTAREE FEA1 HAWCHHOHYS oo, Change the voice. AT TRAAT BT 6x1=6
1) 9: 99 Ul | 2) IR: BUSER I 3) el T g3 |
4) BT 397 Terf| 5) forsa: o 6) Tdad: T |
VI 31) U] AT HEpAT AITEET | 068 rseiod $0X)y30 &8 wXdB050&. Translate any FIVE
into Sanskrit. 4Tl STeral T H&Bd & SIS BT 5x1=5

1) The pen had fallen. 080 HG 0GR, AF! iR T 2ft|

2) Talk in Samskrit. K)ox)@e‘éoés S°8I°¢600h. TXPd H difey |

3) Travelling by bus is inexpensive. aoxna)é”‘ 3G ) 8. T H AL BT T €|

4) All must follow the rule. @06 QAHETQ) F°E30ud. bl T BT STUTAT BT MR

5) In whom are there no faults? &) c‘{)J«—‘\’)c‘ZQQTE 8@“@) €037 ﬁﬁsrﬁgﬁaf:@%v

6) The thief was caught by policemen. 55%25¢ 033 E0% HEPTI0GD. IR TGUTE! & &N Uehs] 74T

3TT) U ATRATI TTSRIT SR | 20650 eSO D(2°N &’ Q8 0 HB050E. Translate any FIVE into

your language. WWWWW&WWI 5x1=5
1) YadT ©iE@=: g | 2) HIdT UT: &b 7 43d| 3) T T2 U9 AT |
4) TIIT GEIBTA TSI | 5) 3T IAIBT: FYA | DEUSERIERIREL
%) I8 P QUi I fEd argisnedn 0082 e zeahod. Correct and rewrite the
sentences.waﬁﬁﬁwmﬁﬁ'@m 3x1=3
1. IAR: ST HTdT ATgdddl | 2. goi: afddT | 3. TcTeh: BT YdH|

** GIOq H&pdH | ST HRAH | ***
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